4.2 Inverse Derivatives . .
Calculus NameSSOLU\_tI ON\S Practice
[ Find the following. !
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' The functions f and g are differentiable. For all x,

f(g(x) = xand g(f(x)) = x.

27. Iff(1) = 5and f'(1) = -2, ﬁnd g(5) and g '(5).
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28. If f(—3) = 7 and f'(—3) = 8, find g(7) and
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30. If f(8) =1and f'(8) = 6, find g(1) andg(l).
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31. If f(—1) =6 and f'(—1) = -3, find g(6) and 32. If f(—8) = —1and f'(—8) = 7, find g(—1) and
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1 5 -5 4 5
2 1 —6 3 3
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4 2 9 6 1
5 3 1 1 2
6 4 2 2 4

f and g are differentiable functions. Using the table above, find the following.
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X f(x) f'&) g(x) g9'(x)
5 6 -2 6 -5
6 9 2 5 —4
7 8 —10 10 9
8 10 4 9 2
9 5 o T 10
10 7 7 3 6

f and g are differentiable functions. Using the table above, find the following. f and g are NOT inverses!

38. g71(7) 39. f71(7) 40. = f~1(6)
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41. %g‘l(B) 42. Find the line tangent to the graph of g~*(x) at x = 8.
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